
 

 

 



 

 

INDICATIVE QUESTIONS FOR SOL(TECH) 

Section  A :  General Knowledge / Ôãã½ãã¶¾ã —ãã¶ã  

1. Who wrote the song 'Sare jahan se Achchha'?  

    ÔããÀñ •ãÖãù Ôãñ ‚ãÞœã Øããè¦ã ãä‡ãŠÔã¶ãñ ÀÞãã ? 

 

A. Ghulam Ali Khan /ØãìÊãã½ã ‚ãÊããè Œããù¶ã 

B. None of these /ƒ¶ã½ãñ Ôãñ ‡ãŠãñƒÃ ¶ãÖãè 

C. Rabindranath Tagore /ÀÌããè¶³¶ãã©ã ›õØããñÀ 

D. Muhammad Iqbal /½ããññÖ½½ãª ƒ‡ãŠºããÊã 

 

2. Havana is capital of which country ?  

    ÖÌãã¶ãã ãä‡ãŠÔã ªñÍã ‡ãŠãè Àã•ã£ãã¶ããè Öõ? 

 

A. Ghana/ Üãã¶ãã 

B. Finland/ ãä¹ãŠ¶ãÊãö¡ 

C. Cuba/ ‡ã‹¾ãìºãã 

D. Cyprus/ Ôããƒ¹ÇãÔã 

 

3. Saina Nehwal is associated with which game?  

    Ôããƒ¶ãã ¶ãñÖÌããÊã ‡ãŠãõ¶ã Ôãñ ŒãñÊã Ôãñ •ãì¡ãè ÖìƒÃ Öõ ? 

 

A. Badminton/ ºãõ¡ãä½ãâ›¶ã 

B. Chess/ Íã¦ãÀâ•ã 

C. Tennis/ ›ñãä¶ãÔã 

D. Hockey/ Öãù‡ãŠãè 

 

Section B : Logical Reasoning / ¦ã‡ãÃŠÍããä§ãŠ 

 

4. Select the one which will complete the series B D G K ?  

    ãä¶ã½¶ã ½ãñ Ôãñ ‡ãŠãõ¶ã Ôãã ‚ãàãÀ ‰ãŠ½ã B D G K ? V ‡ãŠãñ ¹ãîÀã ‡ãŠÀ¦ãã Öõ ? 

 

A. P 

B. M 

C. N 

D. Q 

 

5. Complete the series P5QR, P4QS, P3QT, ___, P1QV  

    ªãè ØãƒÃ ÏãðâŒãÊãã ‡ãŠãñ ¹ãîÀã ‡ãŠÀò P5QR, P4QS, P3QT, ___, P1QV 

 

A. PQ3U 

B. P2QU 

C. PQV2 

D. PQW 

 

6. Choose the missing alphabet which is shown by (?) out of the given alternatives :- Y,B,T,G,O,?  

    Êãã¹ã¦ãã Ìã¥ãÃ½ããÊãã •ããñ ãä‡ãŠ (?) Ôãñ ´ãÀã ªÃÔãã¾ãã Øã¾ãã Öõ ‡ãŠãñ ãäª¾ãñ Øã¾ãñ ãäºã‡ãŠÊ¹ããñ ½ãñ Ôãñ Þãì¶ãñ :-Y,B,T,G,O,? 

 

A. M 

B. L 

C. K 

D. N 

 



 

 

Section C : Physics / ¼ããõãä¦ã‡ãŠ ãäÌã—ãã¶ã 

 

7. The relation between initial velocity u, final velocity v and acceleration a and S being distance is: 

     ¹ÇããÀãä½¼ã‡ãŠ ÌãñØã(u), ‚ãâãä¦ã½ã ÌãñØã(v), ¦ÌãÀ¥ã(a) ‚ããõÀ ªìÀãè(s) ‡ãñŠ ºããèÞã ‡ãŠã Ôã½ºãâ£ã______Öõý 

 

A. V = u + as 

B. V

2

 - u

2

 = 2as 

C. V

2

 - u

2

 = as 

D. V + u = 2as 

 

8. Dyne is a unit of _ _ _ _ .  

    ¡ãƒ¶ã_ _ _ _‡ãŠãè ƒ‡ãŠãƒÃ Öõ ý 

 

A. Momentum ÔãÌãòØã 

B. Power Íããä§ãŠ 

C. Work ‡ãŠã¾ãÃ 

D. Force ºãÊã 

 

9. Which of the following formula is shows the relation between Frequency(v) and Wavelength(λ) of light ?  

    ãä¶ã½¶ã ½ãò Ôãñ ‡ãŠãõ¶ã Ôãã Ôãî¨ã ‚ããÌãðãä§ã(v) ‚ããõÀ ¦ãÀâØã ªõ£¾ãÃ(λ) ‡ãñŠ ºããèÞã Ôã½ºãâ£ã ¹ÇãªãäÍãÃ¦ã ‡ãŠÀ¦ãã Öõ? 

 

A. v = c λ 

B. λ = v 

C. λ = cv 

D. C=v λ 

 
Section  D : Mathematics / Øããä¥ã¦ã 

 

10. Cost of 1 kg of rice is Rs 15.5. Find the cost of 4 kg of rice.  

      †‡ãŠ ãä‡ãŠØãÆã. ÞããÌãÊã ‡ãŠã ½ãîÊ¾ã 15.5 Á. Öõ ¦ããñ ÞããÀ ãä‡ãŠØãÆã. ‡ãŠã ½ãîÊ¾ã ‡ã‹¾ãã ÖãñØãã ? 

 

A. 62 

B. 108.25 

C. 96.45 

D. 88.5 

 

11. Area of a Trapezium is_________. 

      Ôã½Êã½ºã ‡ãŠã àãñ¨ã¹ãŠÊã_______Öãñ¦ãã Öõý 

 

A. b x h 

B. 1/2 ( b x h) 

C. 1/2(a+b) x h 

D. 1/2 ( d1x d2) 

 

12. A train 110 m long, is running at a speed of 60 km/h. How many seconds does it take to cross another train 170 m long 

standing    

      on parallel track? 

      †‡ãŠ ÀñÊãØãã¡ãè 110 ½ããè›À Êã½ºããè 60 ãä‡ãŠ. ½ããè. ¹Çããä¦ã Üã¥›ñ ‡ãŠãè À¹ã‹¦ããÀ Ôãñ ªãõ¡ ÀÖãè Öõ, „Ôã‡ãŠãñ ªîÔãÀãè 170 ½ããè›À ÀñÊãØãã¡ãè ‡ãŠãñ ¹ããÀ ‡ãŠÀ¶ãñ ½ãñ ãä‡ãŠ¦ã¶ãã 

Ôã½ã¾ã  

      ÊãØãñØãã, •ããñ „Ôããè ÀãÔ¦ãñ ¹ãÀ Œã¡ãè Öõ? 

 

A. 18 sec 

B. 15.6 sec 

C. 17.2 sec 



 

 

D. 16.8 sec 

 


